Roadside Saf
Gz,:; il Research Problem Statement T

Project Title: Portable sign supports for aluminum signs with variation on mounting height.

There is a need to place temporary signs within channelizing devices so they are visible for the
Project traveling public. This requires a minimum sign height of 5 ft measured from the top of pavement
Synopsis: to the bottom of the sign. MASH testing will be conducted to aide in the development of a

crashworthy sign stand for temporary applications.

Project Goal(s):

Develop a design for a sign stand for rigid signs that can be placed within channelizing devices
at a mounting height of 5’ or greater (7’ is preferred). Sign size needs to range from 2’ x 2’ (4
square feet) to 4’ x 4’ (16 square feet).

Project
Background:

In work zones, when signs are placed among channelizing devices, they can be visually blocked.
Currently, there isn’t a tested non-proprietary sign stand that can hold a rigid (aluminum) sign at a
height necessary to be placed among channelizing devices, only roll-up signs. A sign stand that
can place the sign above these devices is needed to provide appropriate sight distance and
decision time.

See attached figures for proper and improper placement at the bottom of the page.

Proposed Work
Plan:

Tasks:
1. Literature Review
2. Simulation and Engineering Analysis
3. Construction and Demolition

4. MASH TL-3 Full-Scale Crash Testing and Reporting (3-71 and 3-72 @ 0 & 90 deg.)




Deliverables:

Compile summary report to document research effort, including literature review, CAD details,
crash testing, and recommendations for further research in the event of the system failing testing
criteria.

Urgency and

Expected Benefit:

Successful MASH evaluation of a temporary sign stand will improve safety in work zones and
allow for the installation of signs among channelizing devices that can be seen with adequate
time for decision making.

Problem Funding
and Research
Period:

Total Estimated Cost = $130,000

Work Schedule: (Estimated Project Duration = 12 months from initiation of the project)
. Task 1 = 2 months

. Task 2 = 3 months
. Task 3 = 3 months
. Task 4 = 4 months

Developer(s) of
the Problem
Statement:

Name: Shawn Debenham / Justin Wilstead / Brian Crossley / Michelle Moser
Email:

sdebenham@utah.qgov / jwilstead@utah.gov / bcrossley@pa.gov /

michelle.moser@state.mn.us

Phone:



mailto:michelle.moser@state.mn.us

Figure 1. Improper sign height among channelizing devices.

Figure 2. Proper sign height among channelizing devices.




Temporary Sign Stand Examples

Sign hole
punching

36" x 36" 0.100"
aluminum panel

PR P T T T

Vertical mast —.|3|:

Sign mounting detail
3/8" steel washer

3/8" nylon washer

5/16" (0.3125") grade 5 3/8" steel washer

bolt attaching sleeve ,
to vertical mast at \ i
the top

S sisssssasssiassesnessanssnessasnassasravsavsassaasRav avsassassRannaty

.-..-qL..............................--.----.-.---

~81|I

clfesesaseissivesisiissiiesaseissiieasisissississesssiessseiassiesnsesaseaP

ss00s00u0e
sssssnssnnraanel

Square tube
5/16" nut

I e e R e O L R O

5/16" (0.3125") grade 5
bolt attaching vertical
mast and sleeve to stub\

Asanrany

csPossvassssasnne
U
0

~ Sleeve
Horizontal leg o e
S =% Vertical |
mast
~ Horizontal leg—
22.25" _.-'jZ-':'.:"' Ballast - 120lb. maximum
i sandbag weight at end of Vertical stub is
each leg welded on all 4 sides

to horizontal leg

Parts List:

All square tube 12 gauge galvanized steel with 0.4375" holes on either 1" centers or drilled as needed.
{2} Vertical masts - 2" x 2" x 108" long.

{2) Sleeves - 2.25" x 2.25" x 36" long.

{2} Horizontal legs - 1.75" x 1.75" x 72" long.

{2} Legs, vertical stubs - 1.75" x 1.75™ x 12" long.

Sign mounting hardware: 5/16" (0.3125") stainless steel or grade 5 zinc plated bolts and washers,
nylon insert lock nut, and nylon washers against sign face.

TALL PORTABLE SIGN STAND

APPROVED | DATE OF REV. NCHRP 350 COMPLIANT goi“"",%
12/1/05 . n 3 £
FOR 36" X 36" STOP S 14




Sign hole

punching \Q_\

2

I.C.........’..'.I.......

30" x 30" 0.100
aluminum panel

63" to
top of
sign — Vertical mast
- \
48" to
Sign ¢

Ballast - 45lb. maximum
sandbag at end of each leg

,,,,:,ﬁ...m\l0-.-.-0-.-oa-a-o-a7‘"‘...-‘..,/..,.,.....

Weldedon | — T et
all 4 sides Sy Tl

-
-
-
-
-
-
-
-
-

______ Sign mounting detail
3/8" steel washer

3/8" nylon washer
3/8™ steel washer
5/16" bolt

*-Sign face

Parts List:

All square tube 12 gauge galvanized steel with 0.4375" holes
on either 1" centers or drilled as needed.

(2) H skid, horizontal legs - 2" x 2" x 60" long.

(1) H skid, cross bar - 2" x 2" x 30" long.

(1) H skid, vertical stub - 2" x 2" x 12" long.

(1) Vertical mast - 2.25™ x 2.25" x 60" long.

(1) Sleeve - 2.5™ x 2.5" x 36" long.

Sign mounting hardware: 5/16" {0.3125")} stainless steel or grade 5
zinc plated bolts and washers, nylon insert lock nut, and nylon
washers against sign face.

Square tube
5/16" nut

APPROVED | DATE OF REV. NCHRP 350 COMPLIANT
7/15/05 PORTABLE SIGN STAND
FOR 30" X 30" STOP SIGN




Sign mounting detail
3/8™ steel washer

3/8" nylon washer
3/8" steel washer
5/16" bolt

*-Sign face

24" x 12" 0.100"
aluminum panel

Square tube

5/16" nut 24" x 12" 0.100

aluminum panel

Vertical mast

L LS

Sign hole punching

...........,.......................é/

o g : 24" x 24" 0.100"
3" : aluminum panel
) T § .
5 1
s ik
‘c{ Gl 21" x 15" 0.100"
- £ N aluminum panel
| 9“ E
3 :
¥ 3 Sleeve
_fap s
'4.5" : . Ballast - 45lb. maximum
T sandbag at end of each leg

Welded on e
all 4 sides et

Parts List:

All square tube 12 gauge galvanized steel with 0.4375" holes on either 1" centers or drilled as needed.
{2) H skid, horizontal legs - 2" x 2" x 60" long.

{1) H skid, cross bar - 2" x 2" x 30" long.

(1) H skid, vertical stub - 2" x 2" x 12" long.

(1) Vertical mast - 2.25™ x 2.25" x 96" long.

(1) Sleeve - 2.5™ x 2.5" x 36" long.

Sign mounting hardware: 5/16" (0.3125") stainless steel or grade 5 zinc plated bolts and washers,
nylon insert lock nut, and nylon washers against sign face.

APPROVED | DATE OF REV. NCHRP 350 COMPLIANT
12/1/05 PORTABLE SIGN STAND FOR
DETOUR ASSEMBLY WITH 8" MAST




Sign mounting detail
3/8™ steel washer

3/8" nylon washer 5
3/8" steel washer : :
5/16" bolt E 5
3k 24" x 12" 0.100"
~Sign face GE : aluminum panel
Squars'tube ‘e Vertical mast
5/16" nut v
Sign hole punching 73.5" e 24" x 24" 0.100"
to top |5 - aluminum panel
3" of sign 1l
_ 3 \ Nk Vertical center
o e \fline of signs
.;r" 1K 21" x 15" 0.100"
_ _ : aluminum panel
g 3k
3 48" to | 4| ¢ Sleeve
¢ of (1]
i,, stacked || ¢
_ 4.5’ panels |. /f _______ >
E E - Ballast - 45Ib. maximum
: _;7 sandbag at end of each leg
B ‘» |_——Stub

Weldedonk” NNl s
all 4 sides 000 meerieect
30“ £ -

-
-
-
-

Parts List:

All square tube 12 gauge galvanized steel with 0.4375" holes on either 1" centers or drilled as needed.
{2) H skid, horizontal legs - 2" x 2" x 60" long.

{1) H skid, cross bar - 2" x 2" x 30" long.

(1) H skid, vertical stub - 2" x 2" x 12" long.

(1) Vertical mast - 2.25™ x 2.25" x 72" long.

(1) Sleeve - 2.5™ x 2.5" x 36" long.

Sign mounting hardware: 5/16" (0.3125") stainless steel or grade 5 zinc plated bolts and washers,
nylon insert lock nut, and nylon washers against sign face.

APPROVED | DATE OF REV. NCHRP 350 COMPLIANT
7/15/05 PORTABLE SIGN STAND
FOR DETOUR ASSEMBLY




5/16" (0.3125") grade 5

bolt attaching sleeve
to vertical mast at \

the top

b5/16" (0.3125") grade b
bolt attaching vertical St
mast and sleeve to stub—\s ;

Horizontal leg >

Parts List:

Vertical mast .}

-
-
)

48" x 48" 0.100"
aluminum panel

B4

-

0
“r
e
e
A >
3

v
et
et
"
0

(S
.....
-

Ballast - 120lb. maximum
sandbag weight at end of
each leg

’ Sign hole

hi
F15" punching

Sign mounting detail
3/8" steel washer

3/8" nylon washer
3/8" steel washer
5/16" bolt

*-Sign face

Square tube

5/16™ nut

Sleeve

Sleeve

Vertical
mast |

Horizontal leg —|

Vertical stub is
welded on all 4 sides
to horizontal leg

All square tube 12 gauge galvanized steel with 0.4375"™ holes on either 1" centers or drilled as needed.
{2} Vertical masts - 2" x 2" x 108" long.
{2) Sleeves - 2.25" x 2.25" x 36" long.

{2} Horizontal legs - 1.75" x 1.75" x 72" long.
{2} Legs, vertical stubs - 1.75" x 1.75" x 12" long.
Sign mounting hardware: 5/16" (0.3125") stainless steel or grade 5 zinc plated bolts and washers,
nylon insert lock nut, and nylon washers against sign face.

APPROVED
12/1/05

DATE OF REV. NCHRP 350 COMPLIANT

PORTABLE SIGN STAND
FOR 48" X 48" EXIT PANEL




Optional lightweight amber
flashing light is mounted

to aluminum panel Sian hol
and against vertical 'gn hole
mast to prevent spin 48" x 48" 0.100" punching
aluminum panel ¢
L
1 2Il
5"

Vertical mast — .}

Sign mounting detail
3/8" steel washer

3/8" nylon washer
3/8" steel washer
5/16" bolt

\ ~-Sign face
Square tube

5/16™ nut

5/16" (0.3125") grade 5 HE
bolt attaching sleeve

to vertical mast at \

the top d

b5/16" (0.3125") grade b
bolt attaching vertical St
mast and sleeve to stub—\§ ;

61.75"

i Sleeve
Sleeve

B ===
et s |
= sle
caye sl
. o sle
H e se
. 52 sle
. (5 s
. s
2, v

Vertical
5 mast |

s Horizontal leg —

28.25"

Vertical stub is
Ballast - 120lb. maximum welded on all 4 sides
sandbag weight at end of to horizontal leg
each leg

Parts List:

All square tube 12 gauge galvanized steel with 0.4375"™ holes on either 1" centers or drilled as needed.
{2} Vertical masts - 2" x 2" x 108" long.

{2) Sleeves - 2.25" x 2.25" x 36" long.

{2} Horizontal legs - 1.75" x 1.75" x 72" long.

{2} Legs, vertical stubs - 1.75" x 1.75" x 12" long.

Sign mounting hardware: 5/16" (0.3125") stainless steel or grade 5 zinc plated bolts and washers,
nylon insert lock nut, and nylon washers against sign face.

APPROVED | DATE OF REV. NCHRP 350 COMPLIANT
7/15/05 5 FEET PORTABLE SIGN STAND
FOR 48" X 48" DIAMOND




36" x 36" 0.100"

4 Sign hole
aluminum panel

punching

Optional lightweight
amber flashing light
is mounted to aluminum
panel and against vertical
mast to prevent spin

Vertical mast —fif

Sign mounting detail
3/8" steel washer

/16" (0.3125") grade 5 3/8" nylon washer

3/8" steel washer

oo-o-i ey
TS,

bolt attaching sleeve i :
to vertical mast at \: : i ‘ -
the top ¥ HE il +-5/16" bolt
~74" i
Sign face
Lid
5/16" (0.3125") grade 5 |3} i 63,?“"’"9 tube
bolt attaching vertical HE HH o 5/16" nut
mast and sleeve to stub\; : HH =2
e il e Slenye Sleeve
Horizontal leg L e

Vertical
mast

....
(52t -
. (52
,,,,,
“ 0
0 »
2

Horizontal leg—

22.25" Lo '
S Ballast - 120Ib. maximum Vertical stub is
z sandbag weight at end of welded on all 4 sides
each leg to horizontal leg

Parts List:

All square tube 12 gauge galvanized steel with 0.4375"™ holes on either 1" centers or drilled as needed.
{2} Vertical masts - 2" x 2" x 108" long.

{2) Sleeves - 2.25" x 2.25" x 36" long.

{2} Horizontal legs - 1.75" x 1.75" x 72" long.

{2} Legs, vertical stubs - 1.75" x 1.75" x 12" long.

Sign mounting hardware: 5/16" (0.3125") stainless steel or grade 5 zinc plated bolts and washers,
nylon insert lock nut, and nylon washers against sign face.

APPROVED | DATE OF REV. NCHRP 350 COMPLIANT
12/1/05 TALL PORTABLE SIGN STAND
FOR 36" X 36" DIAMOND




Optional lightweight flashing
amber light is mounted
to aluminum panel

and against vertical
mast to prevent spin

48" x 48" 0.100"
aluminum panel

Vertical mast

Lower sign
mounting bolts
shall go through
vertical mast
and sleeve

Sleeve —1i|:

Sign hole
punching

Y

N
12“

15" #

Sign mounting detail
3/8" steel washer

3/8" nylon washer
3/8" steel washer

]
[ +—5/16" bolt

=

i

L

~-Sign face

Square tube
5/16" nut

Horizontal leg S e
5 Sleeve and mast L
2 are bolted to S
vertical stub =25
31.5" S

\-::-‘f""

Bottom of sign to ground
shall be 13" to 14"

mast

Ballast - 45Ib. maximum Horizontal leg

sandbag at end of each leg

Sleeve —\
Vertical

o@D
[ E A X RN

Vertical stub is
welded on all 4 sides
to horizontal leg

Parts List:

All square tube 12 gauge galvanized steel with 0.4375" holes on either 1" centers or drilled as needed.

{2) Vertical masts - 1.75" x 1.75™ x 60" long.
{2) Sleeves - 2" x 2" x 36" long.

{2) Horizontal legs - 1.6" x 1.5" x 60" long.

{2) Legs, vertical stubs - 1.5" x 1.5" x 12" long.

Sign mounting hardware: 5/16™ (0.3125"} stainless steel or grade 5 zinc plated bolts and washers,

nylon insert lock nut, and nylon washers against sign face.
{1) Optional flashing warning light attached to sign panel.

FHWA Reference HSA-10/WZ-133

NCHRP 350 COMPLIANT
PORTABLE SIGN STAND
FOR 48" X 48" DIAMOND

APPROVED | DATE OF REV.

7/15/05




Optional lightweight flashing
amber light is mounted
to aluminum panel
and against vertical
mast to prevent spin

Vertical mast

Lower sign
mounting bolts
shall go through
vertical mast
and sleeve

Sleeve—i|:

.5
18-20"

Sk

=5
2

=
0

e

Ly

= e

[

0

e

2t

e

Sleeve and mast
are bolted to
vertical stub _

0
?
o

s

48" x 48" 0.100"
aluminum panel

Sign hole
punching

v
12"
12"

Sign mounting detail
3/8" steel washer

3/8" steel washer

5/16" bolt

o

*-Sign face

anat
5

Square tube
5/16" nut

31.5" A Sleeve |
\s/' Vertical
mast 7

Bottom of sign to ground
shall be 18"-20"

Horizontal leg
Ballast - Approx. 45Ib.

LB B B N

sandbag at end of each leg

Parts List:

Vertical stub is
welded on all 4 sides
to horizontal leg

All square tube 12 gauge galvanized steel with 0.4375" holes on either 1" centers or drilled as needed.

(2) Vertical masts - 1.75" x 1.75" x 72" long.

(2) Sleeves - 2" x 2" x 36" long.

{2) Horizontal legs - 1.5" x 1.5" x 48" long.

(2) Legs, vertical stubs - 1.5" x 1.5" x 6-12" long.

Fastening hardware: 5/16™ (0.3125") stainless steel or grade 5 zinc plated bolts and washers,

nylon insert lock nuts, and nylon washers.
(1) Optional flashing warning light attached to sign panel.

APPROVED | DATE OF REV.

5/3/06

PORTABLE SIGN STAND
FOR 48" X 48" DIAMOND




36" x 24" 0.100"
aluminum panel

TTT.\
-4

sssavan
messnrssssssunnuanee

Vertical mast

P T T T\

RsisssEsasEvesssnsuay

A

36" x 48" 0.100"
aluminum panel

Gsssssnsasnsnsassanas
csesen

i i

Sleeve — i v

5/16" (0.3125") grade 5 |3 ;

bolt attaching vertical i 3¢

mast and sleeve to stub._ |}/ Pl
N 2an

Horizontal leg 3 HE

Ballast - 45lb. maximum
sandbag at end of each leg

Parts List:

All square tube 12 gauge galvanized steel with 0.4375" holes on either 1" centers or drilled as needed.

(2) Vertical masts - 1.75" x 1.75" x 90.5" long.
{2) Sleeves - 2" x 2" x 36" long.

{2) Horizontal legs - 1.5" x 1.5" x 60" long.

(2) Legs, vertical stubs - 1.5" x 1.5" x 12" long.

e Horizontal leg—

12"

6" Sign hole
* ! punching
v

‘ 1 2ll‘_
6“

Sign mounting detail
3/8" steel washer

3/8" nylon washer
3/8" steel washer
5/16" bolt

~-Sign face

Square tube
5/16" nut

Sleeve —|—_

LA B A A B N
QeSS Qan

Vertical

mast

Vertical stub is
welded on all 4 sides
to horizontal leg

Sign mounting hardware: 5/16" {0.3125") stainless steel or grade 5 zinc plated bolts and washers,

nylon insert lock nut, and nylon washers against sign face.

APPROVED
7/15/05

DATE OF REV.

NCHRP 350 COMPLIANT
PORTABLE SIGN STAND
FOR WORK ZONE SPEED LIMIT




NOISIAIC SNCIAYM34O 3] d4valll NOILD3S SLimedd
WAHOI K, * 43140 | ONY OMISIINIONT I S4viL =]

91.8-01

- L
V01 WS | 5102 P51 e £102 *€1NA"

3aVIIY¥YvE 111 3dAlL
ONINOIS TI0HLNOD JId4dvyl

SNOLLYEI4O ANV HONVNHLNIVK 40 Nvauns

NOLLVLYOdSNYUL 40 LNIAWLAVAAQ
VINVATTASNNId 40 HLTVIMANOWKOD

o3 | ontent [ IR 0¥ | AvNOVOY

A-v\.
ANN ONY 1708

ONIENL
T33LS L5101

VE 30V HEYE
J1L1SY7d XIHL .52°0

ONIBNL T133LS W5°L

F00c0000000000000C000000000600] 600000

“AVM-J0-LHOTE AVMHIIN
FHL NIHLIA Q31v07 N3HN NOILISOd TWOILW3A 3KL NI NIVWNIE TOVHS SN9IS °ZI

"JI44VEL OL LS3UVEN S| HOIHA .@_m 3HL 40 30IS 3HL NO G3LYI0T ONV NAOHS
SY O3HOVLLY 36 TIVHS SLHOIT "O3SN N3HM “TYNOILcD 3§V SLHOIN ONIHSYId “1|

“SNOIS 03S07) OVOH NO S1IKOI] ONIAVNVESS «¥Z WLIN
Q3K0TTY 3YY SNOIS T NO SIKOIT ONINEVA 8 3dAL OML 20 MONIXVA ‘0|

"SHININO

ONIHIYOUSdY OL ATBISIA AWYITD SI 3AVIILEVE 3L LVHL OS $S30IS
SHL NO 02OV 3@ LISOA ONIL33KS 3AI1D3743E0813Y ' .06 CINGNL 41 6
"SINN ONV S1708 MLIA O3HOVLLY 38 OL 3uV STIVM ONY SNOIS '8

“ALLTIEYLS 301AOHd
OL 937 HOY3 40 ON3 FHL NO 030V1d 38 TIVHS LSYTIVE OVEONYS  “L

"INITAKLILT04 MO
3NITAT0cOUdA 0D 0ILYINHEID .w_.wx-iq J11S¥7d 7/ AONIROTY ° SEY
dN-T708) 3MWIXITF "WININNTY *000MATE 38 AVA ILVELISENS NOIS 9
*931 3SYE HO LSOd
3HL 0L GNNONOD 34 JA0EV MONIXYN .02 O3HIVLLY
YO ONNOYO 3HL NO B3HLI3 Q33v1d 38 ISAN 3SVD AYILIVE °S
"NAOHS SY O3LNNON 38 OL SI 3N0YTd WININIWNS
*+8Z1 SI SNOIS TV 30 dOI 01 LIKOISH ONILNNCA MONININ °S
'l 62 0330X3 LON AYA NOIS 3HL 40
LHOIIN ANAIXYA JHL *YIMY AORIXYN ON ONIAVH 37048 “CALLINKIS
34V SHOIS HYINONVIHL ONY WNOIVLIDO 'HYINONYLISE “ONONVIO 2

"y *E011 NOILD3S “ 80k NOILYII I8N
40 SININIYIND3Y 3HL ONILIIN SIVIYILYN NOIS 30[ACHd °I

iSIION

X L2




L1L8-01

NOISIAIC SNOIAVH340 J)ddvalll NOILAD3S SLimedd
ONY_ AL WRHOI K, * 431H0| ONY OMINIINIONT Dl S4viL =]

1301

{
“AHS | Sioz g war 9

3 {10z e wnr O

3SVE « Xu ANV 3SVE wHau

1S0d NOIS
378V.140d AYVHYOdW3L

VINVATASNNId J0 HLTVAMNOWKOD

SNOLLYEI4O ANV HONVNHLNIVK 40 Nvauas

NOILV.LYOdSNVIL 40 LNIAWLAVJId

“AVM-30-1HO1Y AVAKOIH

3HL NIMLIN O3L¥007 NHA NOILISOd WOILH3A 3HL NI NIVASHE TWHS SNOIS *

D143Vl OL LS3EVIN SI MIIHM NOIS 34i 40 30IS ML NO G3LVD0T ONY NAOKS
SV O3HOVLLY 3B TWHS SLHOIT “Q3SN N3HM “TYNDILJO 3¥V SLHOIT ONIHSVIS

“03A0EJJY ONY Q3US3L HSYHD € T3A3T 1S3L OST JEHON

“SN2IS 03S07) AVOM NO SLHIIT ONILVEVEES .¥2 HLIIN
O3M07TV 38Y SNOIS 1 NO SLHOIT ONINHVM B 34l OML =0 AMAIXVN

“LNN ONY 1708 3KL K108 ¥30NN

SHIHSVA NOTAN ONY 1331S w% 3S_ "SINN X007 L¥3SNI NOTAN

ONY S1708 030V3H X34 Q30VIYHL A1INd 9/9 NOTAN ONOT . %2
E2LINVIQ 4% HLIA OINILSYZ ONY ON3 dOL LSO HLIM O3NDITY
3003 <01 HLIM L1S0d NOIS T¥IILE3A 3HL NO 030Vd SI T3NVd NOIS

“ALIIEVLS 301A0%d
01 937 HOY3 30 ON3 JHL NO 032Y7d 38 TIVHS LSVIIVE OVEANYS

CLAN ONY 1708 3HL

HLOE Y3ANN SHIHSYM NOTAN ONY 1331S . %€ 35N "SINN 3307

A¥3SNI NOTAN ONY S1708 Q3LY1d ONIZ S 3AYN9 ¥O T331S SSIWIVIS
ONOT « %42 ¥3LINYIC «% HLIN 03NILSYS ONIBNL 1335

#SL°L 'ONUS 3SYE HIAO SIAIIS ONIBNL 133US 2 ‘1504

*8ql S| LKD13M “XVA
' 3NITAHLIA WG, B0 INITAI0dOBAAI0d_OILYOHOD *IAVNINY Y
OLLSVIE 7 AONINNTY  “AONINNTY “000MATd 38 AVA 31VELISENS NIIS

‘031 35Y8 HO 1504

3HL 0L GNNOWD 3ML 3AOEBY ANAIXVA .0Z O3HIVILY

HO ONNOED SHL NO ¥3KA13 030¥7d 38 LSTA 35YD AWILIVE

i) bs §

0330%3_LON TIVHS V3HY NOIS AONIXYA 3Hi _"0JLLINY3d

3KV SNOIS UV ININVIHL ONY WNOOVLIDO ‘MY INONVIO3M “ONOAVIC

b €011 NOI1D3S ‘80K NOLLVIITENG
40 SININIHINDIY IHL ONILIIN STIVIHALVA NOIS 301A0¥E

e

K4

1S3LON

“133IHS SIHL STIVLi30 335
ASVE «He ¥ 3SVE W Xa

T o
s
4ok
b 3uvacuvH SNLINNOR
lof 1504 ¥0= ¥ 3LON 335
5
°
°
b oNlenL 1331s
ofm—— S W2
:
- 3
2 H
0 2
°
= °
= oh
b4
o
:
.
o
b4
o
.
b
| °
IMVMOHYH ONLLINDON sl
NOTS O3 £ 3ION 335 s
H
°
:
b
°
:
b
.
H
°
Lol

1IVL30 3SVE wXu

NOILYA3T3

[Escscececcd

"dal = -“
A

JEVNOEYH ONILNDON
1504 804 S ILON 335

——={526055099

ONIBNL 133LS L

DS «SLTL

=
<
-l
o

C°dAl}

e

55c50005853

[rerrrererr

Ssesssssss)

("dAL) ONIBNL 133LS
DS w81

Fecccssesss

=%

R

AVNOYOY
40 3203

[Bscosssssses]
5
z
s ‘__
§
:
o
3 =
: ;
: R
: ;
e 3
: E
:
:
2| 150d 01
° JdIN FWN03IS
:
) -

1IVL3a 3SVE wHa

NOILVA3T3

[Eecscesod

%/
YA

5
o
3
H
3
H
S
T

ONIENL TBAULS
oS WSL71

b2

e
opTsoc] Jeosooo
-2




